Table 1: Initial Claims by Local Workforce Area (LWA)

September 2017

Local Workforce Area	All Programs	UI	UCFE	UCX
State Total	6,846	6,813	29	4
Bluegrass LWA	1,084	1,084	0	0
Cumberland LWA	442	441	0	1
EKCEP LWA	580	578	2	0
Green River LWA	338	338	0	0
Kentuckiana Works LWA	1,645	1,642	1	2
Lincoln Trail LWA	477	472	4	1
Northern Kentucky LWA	633	613	20	0
South Central LWA	490	488	2	0
TENCO LWA	325	325	0	0
West Kentucky LWA	832	832	0	0

Includes all claims in which state funds are involved, including UI-only claims, and joint claims involving state UI and UCFE or UCX.

Table 2: Non-Monetary Determinations by Local Workforce Area (LWA)

September 2017

UI Issues

Local Workforce Area	Total All Programs	UI	UCFE	UCX	SEP	DISQ	NSEP	DISQ
State Total	5,522	5,448	42	32	3,458	1,725	1,920	1,394
Bluegrass LWA	887	878	5	4	552	254	322	200
Cumberland LWA	352	351	0	1	219	117	132	92
EKCEP LWA	396	393	0	3	256	146	137	118
Green River LWA	240	236	2	2	158	78	78	60
Kentuckiana Works LWA	1,388	1,380	8	0	906	422	474	348
Lincoln Trail LWA	312	302	5	5	228	115	74	54
Northern Kentucky LWA	444	443	0	1	269	128	174	121
South Central LWA	363	358	3	2	229	125	129	96
TENCO LWA	217	213	2	2	128	80	75	47
West Kentucky LWA	487	482	1	4	257	136	169	134

Table 3: Benefit Payments and Exhaustions by Local Workforce Area (LWA)

September 2017

Local Workforce Area	Unemployment Insurance Paid	Weeks Insurance Paid	Average Benefit Payment	Program Exhaustees
State Total	20,125,623	61,236	329	1,074
Bluegrass LWA	3,078,181	9,296	331	195
Cumberland LWA	1,209,590	4,033	300	72
EKCEP LWA	1,622,244	5,497	295	98
Green River LWA	775,171	2,348	330	35
Kentuckiana Works LWA	4,840,182	14,524	333	292
Lincoln Trail LWA	1,015,687	3,136	324	68
Northern Kentucky LWA	1,312,055	3,869	339	62
South Central LWA	1,674,848	4,724	355	50
TENCO LWA	934,407	2,801	334	58
West Kentucky LWA	1,648,334	5,382	306	95

Payments are for regular program only.

Table 4: Total Insured Unemployment and Average Weekly Claimants by Local Workforce Area (LWA)

September 2017

Weeks of Unemployment Claimed

Regular Program

Local Workforce Area	Average Number of Weeks Claimed	Total All Programs	UI	UCFE	UCX	
State Total	13,865	61,621	61,086	305	230	
Bluegrass LWA	2,304	10,240	10,186	22	32	
Cumberland LWA	1,029	4,574	4,538	19	17	
EKCEP LWA	1,388	6,171	6,064	89	18	
Green River LWA	592	2,632	2,615	16	1	
Kentuckiana Works LWA	3,567	15,855	15,840	9	6	
Lincoln Trail LWA	809	3,596	3,504	40	52	
Northern Kentucky LWA	955	4,245	4,199	46	0	
South Central LWA	1,154	5,131	5,113	10	8	
TENCO LWA	696	3,093	3,051	22	20	
West Kentucky LWA	1,369	6,084	5,976	32	76	

Includes UI, UCFE, and UCX.

Table 5: Weeks Claimed by Local Workforce Area (LWA)

September 2017

Local Workforce Area	Total All Programs	Regular UI	UCFE	UCX	
State Total	68,326	67,224	552	550	
Bluegrass LWA	10,254	10,186	30	38	
Cumberland LWA	4,583	4,542	12	29	
EKCEP LWA	6,111	6,064	15	32	
Green River LWA	2,640	2,621	14	5	
Kentuckiana Works LWA	15,924	15,840	47	37	
Lincoln Trail LWA	3,610	3,504	45	61	
Northern Kentucky LWA	4,283	4,199	84	0	
South Central LWA	5,131	5,113	10	8	
TENCO LWA	3,089	3,051	12	26	
West Kentucky LWA	6,100	5,978	36	86	

Includes UI-only claims and joint claims involving state UI combined with UCFE or UCX.

Table 6: Selected Characteristics of the Insured Unemployed During the Week Including the 19th by Local Workforce Area (LWA)

September 2017

Local Workforce Area	Total Insured Unemployed	Percent Female	Percent Non- White	Percent Age 21 and Under
State Total	15,825	44.8%	16.0%	1.6%
Bluegrass LWA	2,509	12.2%	4.5%	0.0%
Cumberland LWA	957	7.3%	1.5%	1.9%
EKCEP LWA	1,311	9.8%	0.2%	4.2%
Green River LWA	643	10.0%	2.5%	0.0%
Kentuckiana Works LWA	3,708	9.9%	6.9%	0.6%
Lincoln Trail LWA	742	11.2%	2.6%	3.6%
Northern Kentucky LWA	1,025	12.9%	1.3%	0.0%
South Central LWA	869	9.2%	3.2%	1.0%
TENCO LWA	702	11.1%	3.4%	0.6%
West Kentucky LWA	1,389	7.3%	3.0%	2.7%

Regular state UI weeks claimed during the week including 19th, including those filed through the internet system.

Percentages are taken from a 20% sample during the survey week.

Less than 5% of county-of-residence total figures may not agree due to rounding.

Table 9: Total Benefits Paid, Weeks Compensated, and Average Weekly Beneficiaries by Local Workforce Area (LWA)

September 2017

Local Workforce Area	Benefits Paid	Weeks Compensated	Average Weekly Beneficiaries
State Total	19,156,239	58,474	12,712
Bluegrass LWA	3,105,079	9,361	2,035
Cumberland LWA	1,224,389	4,076	886
EKCEP LWA	1,640,596	5,547	1,206
Green River LWA	779,139	2,359	513
Kentuckiana Works LWA	4,870,113	14,603	3,175
Lincoln Trail LWA	1,059,095	3,241	705
Northern Kentucky LWA	1,333,363	3,955	860
South Central LWA	1,683,828	4,746	1,032
TENCO LWA	949,668	2,847	619
West Kentucky LWA	1,694,752	5,506	1,197

Table 10: Initial Claims UI-UCFE-UCX by Local Workforce Area (LWA)

September 2017

	·
State Total	7,524
Bluegrass LWA	1,084
Cumberland LWA	442
EKCEP LWA	580
Green River LWA	338
Kentuckiana Works LWA	1,645
Lincoln Trail LWA	477
Northern Kentucky LWA	633
South Central LWA	490
TENCO LWA	325
West Kentucky LWA	832

Area totals may not sum to the statewide total due to interstate, commuter, internet, and other claims.

Includes all claims in which state funds are involved, including UI-only claims, and joint claims involving state UI and UCFE or UCX.

Table 13: UI Non-Monetary Determinations Time Lapse Affected Week Separations by Local Workforce Area (LWA)

September 2017

Local Workforce Area	Less Than 7 Weeks	8 - 14 Weeks	15 - 21 Weeks	Total Timely	Greater Than 70 Weeks	Area Total	Percent Timely
State Total	2,720	271	105	3,096	204	3,529	87.7%
Bluegrass LWA	437	46	16	499	26	556	89.7%
Cumberland LWA	167	17	14	198	9	219	90.4%
EKCEP LWA	207	13	5	225	16	256	87.9%
Green River LWA	118	12	5	135	13	158	85.4%
Kentuckiana Works LWA	687	74	25	786	49	906	86.8%
Lincoln Trail LWA	179	21	0	200	14	228	87.7%
Northern Kentucky LWA	199	22	9	230	19	269	85.5%
South Central LWA	180	17	8	205	16	229	89.5%
TENCO LWA	109	7	7	123	7	138	89.1%
West Kentucky LWA	247	24	7	278	15	313	88.8%

Table 14: UI Non-Monetary Determinations Time Lapse Affected Week Non-Separations by Local Workforce Area (LWA)

September 2017

Local Workforce Area	Less Than 7 Weeks	8 - 14 Weeks	15 - 21 Weeks	Total Timely	Greater Than 70 Weeks	Area Total	Percent Timely
State Total	866	125	119	1,110	389	1,920	57.8%
Bluegrass LWA	175	21	16	212	47	322	65.8%
Cumberland LWA	64	12	15	91	21	132	68.9%
EKCEP LWA	57	12	6	75	38	137	54.7%
Green River LWA	40	3	5	48	14	78	61.5%
Kentuckiana Works LWA	188	26	32	246	117	474	51.9%
Lincoln Trail LWA	27	2	12	41	12	74	55.4%
Northern Kentucky LWA	87	19	5	111	26	174	63.8%
South Central LWA	64	9	6	79	26	129	61.2%
TENCO LWA	37	2	1	40	19	75	53.3%
West Kentucky LWA	79	6	9	94	35	169	55.6%

Note: Includes all claims in which state funds are involved - UI-only claims.

Area totals may not sum to the statewide total. Statewide total values possibly include interstate, commuter, internet, and other claims unrelated to a specific area